TK120.510 Rotatable Corner Module - Donebilen Kose Modulu

TX25 TX40 SW3

M8x40 (x4)*

Mounting View
Montaj Gorinumu

_____________________________________________

_____________________________________________

Box Qontents
Kutu Igerigi
gx [/mmmm  \gx40

1 1
1 1
1 1
I I
1 1
E 6x [/mmMM  \i8x40 (Loctite) - - E
tox (W vigx20 !
i [ () (D) !
1 1
1 1
1 1
1 1
1 1
1 1
1 1
1 1

ewJipuepiuig $nuog
uoleyuI uoheloy

joiis)
o: 9
=)
2.8
oo}
[23=}
Ell
o
a2
=)
33
3

M8x18 (Loctite)
x  [m M8x12

4% O M8
& © J84(Ms) £ ks

x O D7.5x5

_____________________________________________

Optional 1
Opsiyonel 1

Optional 2
Opsiyonel 2

M8x40 (
Loctite*

M8 (x4)

N7
‘|‘Ii-lqmwfv

L

Scan for the installation manual
Kurulum kilavuzu igin tarayin

_______________________

RN /2R
(€D W mgee
NS LISTED

https://teknokol.com @ +90 224 443 2318 TEKN D KD I_®

Kayapa, Karanfil Cad Kayapa Sanayi Bolgesi
@ teknokol@teknokol.com @ Nox:/6,p16315 NiIUfer/Bursg P y g Support Arm and Control Panel Systems




